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PHYSICS 
Q.1 For a satellite moving in an orbit around the 

Earth, the ratio of kinetic energy to potential 
energy is : 

 (1) 2/1   (2) 2  

 (3) 2    (4) 1/2  
 
Q.2 Modulus of rigidity of ideal liquids is : 

 (1) Infinity        

 (2) Zero  

 (3) Unity     

 (4) Some finite small non-zero constant value  

 
Q.3 As the temperature is increased, the time period 

of a pendulum :  

 (1) Increases as its effective length increases 

even though its centre of mass still remains 

at the centre of the bob      

 (2) Decreases as its effective length increases 

even though its centre of mass still remains 

at the centre of the bob  

 (3) Increases as its effective length increases 

due to shifting of centre of mass below the 

centre of the bob      

 (4) Decreases as its effective length remains 

same but the centre of mass shifts above the 

centre of the bob  

PHYSICS 
Q.1 i`Foh ds ,d d{kk esa pDdj yxk jgs ,d mixzg ds 

fy;s xfrt ÅtkZ rFkk fLFkfrt ÅtkZ dk vuqikr gS & 

 (1) 2/1   (2) 2  

 (3) 2    (4) 1/2  

 

Q.2 vkn'kZ nzoksa dk n`<+rk xq.kkad gksrk gS & 

 (1) vuUr     

 (2) 'kwU;  

 (3) bdkbZ     

 (4) dqN ifjfer vYi v'kwU; fu;r eku   

 

Q.3 tSls gh rki c<+k;k tkrk gS] yksyd dk vkorZdky & 

 (1) mldh izHkkoh yEckbZ c<+us ds lkFk c<+rk gS 

;|fi mldk nzO;eku dsUnz ckWc ds dsUnz ij cuk 

jgrk gS      

 (2) mldh izHkkoh yEckbZ c<+us ds lkFk ?kVrk gS 

;|fi mldk nzO;eku dsUnz ckWc ds dsUnz ij cuk 

jgrk gS  

 (3) mldh izHkkoh yEckbZ c<+us ds lkFk nzO;eku dsUnz 

ds ckWc ds dsnz ds uhps foLFkkfir gksus ds dkj.k 

c<+rk gS        

 (4) mldh izHkkoh yEckbZ c<+us ds lkFk nzO;eku dsUnz 

ds ckWc ds dsnz ds uhps foLFkkfir gksus ds dkj.k 

?kVrk gS        
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 Q.4 An ideal gas undergoes cyclic process ABCDA 
as shown in given P-V diagram. 

 P

2P0

P0

D C 

B A
V

V0 3V0  
 The amount of work done by the gas is : 
 (1) 6P0V0  (2) –2P0V0  
 (3) +2P0V0   (4) +4P0V0 
 
Q.5 Hydrogen and nitrogen are at the same 

temperature. The molecules of which one of 
them will have more average kinetic energy? 

 (1) Hydrogen     
 (2) Nitrogen   
 (3) Both have equal amounts of energy      
 (4) Depends upon actual value of temperature  
 
Q.6 Two waves are represented by the equations: 

y1 = asin(ωt + kx + 0.57)m and y2 = acos(ωt + kx)m, 
where x is in metres and t in seconds. The phase 
difference between them is :  

 (1) 0.57 radian (2) 1.0 radian   
 (3) 1.25 radian (4) 1.57 radian  
 
Q.7 The number of significant figures in 0.06900 is : 
 (1) 5 (2) 4 (3) 2 (4) 3 
 
Q.8 A body moves along a quadrant of a circle of 

radius r. The displacement and the distance 
travelled are : 

 (1) 2/r,2r π  (2) r, π r   

 (3) r,r22 π  (4) r, π r/2   

Q.4 ,d vkn'kZ xSl pØh; izØe ABCDA ls fn;s x;s 

P-V oØ ds vuqlkj xqtjrh gSA 
P

2P0

P0

D C 

B A
V

V0 3V0   
 xSl }kjk fd;s x;s dk;Z dh ek=kk gS &  
 (1) 6P0V0  (2) –2P0V0  
 (3) +2P0V0   (4) +4P0V0 
 
Q.5 gkbMªkstu rFkk ukbVªkstu leku rki ij gSA dkSulk 

,d v.kq vf/kd vkSlr xfrt ÅtkZ j[ksxk & 
 (1) gkbMªkstu     
 (2) ukbVªkstu   
 (3) nksuksa ÅtkZ dh leku ek=kk j[ksaxs       
 (4) rki ds okLrfod eku ij fuHkZj djrk gS  
  
Q.6 nks rjaxsa lehdj.kksa y1 = asin(ωt + kx + 0.57)m rFkk 

y2 = acos(ωt + kx)m }kjk iznf'kZr gS tgk¡ x ehVj esa 
rFkk t lsd.M esa gSA muds e/; dykUrj gS &  

 (1) 0.57 radian (2) 1.0 radian   
 (3) 1.25 radian (4) 1.57 radian  
 
Q.7 0.06900 esa lkFkZd vadks dh la[;k gS & 
 (1) 5 (2) 4 (3) 2 (4) 3 
 
Q.8 ,d fi.M r f=kT;k ds o`Ùk ds prqFkk±'k ds vuqfn'k xfr 

djrk gSA r; fd;k x;k foLFkkiu rFkk nwjh gS & 

 (1) 2/r,2r π  (2) r, π r   

 (3) r,r22 π  (4) r, π r/2   
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Q.9 The horizontal range and maximum height of a 
projectile are equal. The angle of projection of 
the projectile is :  

 (1) θ = tan–1 (1/4) (2) θ = tan–1 (4)   
 (3) θ = tan–1 (2)  (4) θ = 45° 
 
Q.10 If a body is stationary : 
 (1)  There is no force acting on it    
 (2)  The forces acting on it are not in contact 

with it  
 (3) The combination of forces acting on it 

balance each other      
 (4) The body is in vacuum  
 
Q.11 When a ceiling fan is switched off, its angular 

velocity falls to half while it makes 36 rotations. 
How many more rotations will it make before 
coming to rest?  

 (1) 24 (2) 36 (3) 18 (4) 12  
 
Q.12 A body A of mass M while falling vertically 

downwards under gravity breaks into two parts : 
a body B of mass M/3 and a body C of mass 
2M/3. The centre of mass of the bodies B and C 
taken together shifts, compared to that of body 
A, towards : 

 (1) Body B    
 (2) Body C  
 (3) Does not shift    
 (4) Depends on height of breaking  

Q.9 ,d iz{ksI; dh {kSfrt ijkl rFkk vf/kdre Å¡pkbZ 

cjkcj gSA iz{ksI; dk iz{ksi.k dks.k gS & 

 (1) θ = tan–1 (1/4) (2) θ = tan–1 (4)   

 (3) θ = tan–1 (2)  (4) θ = 45° 

 
Q.10 ;fn ,d fi.M fLFkj gS rks & 

 (1)  ml ij dksbZ cy dk;Zjr ugha gS    

 (2)  ml ij dk;Zjr cy mlds lkFk lEidZ esa ugha gS  

 (3) ml ij dk;Zjr cyksa dk la;kstu ,d&nwljs dks 

larqfyr djrk gS      

 (4) fi.M fuokZr esa gS  

 
Q.11 tc Nr ds ia[ks dk fLop pkyw fd;k tkrk gS] rks 

mldk dks.kh; osx vk/ks rd ?kVrk gS tcfd og 

36 ?kw.kZu djrk gSA og fojke esa vkus ds igys fdrus 

vksj ?kw.kZu djsxk &  
 (1) 24 (2) 36 (3) 18 (4) 12  
 
Q.12 M nzO;eku dk ,d fi.M A xq:Ro ds v/khu uhps dh 

vksj fxjus ds nkSjku nks Hkkxksa esa VqVrk gSA M/3 
nzO;eku ds fi.M B rFkk 2M/3 nzO;eku ds fi.M C 
esaA fi.M B o C dk nzO;eku dsUnz fi.M A ds 

nzO;eku dsUnz dh rqyuk esa lkFk&lkFk foLFkkfir 

gksxk& 
 (1) fi.M B dh vksj    
 (2) fi.M C dh vksj  
 (3) foLFkkfir ugha gksxk     
 (4) VwVus dh Å¡pkbZ ij fuHkZj  
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Q.13 A uniform rod of length l and mass m is 
swinging freely about a horizontal axis passing 
through its end. Its maximum angular speed is 
ω. Its centre of mass rises to a maximum height 
of :    

 (1) 
g3

1 22ωl   (2) 
g6

1 ωl   

 (3)  
g2

1 22ωl  (4) 
g6

1 22ωl  

 
Q.14 Three identical spheres, each of mass 1 kg, are 

kept as shown in figure touching each other, 
with their centres on a straight line. If their 
centres are marked P, Q and R respectively, the 
distance of centre of mass of the system from P 
is :    

          

 Y

X
P Q R

 

 (1) 
3

QRPRPQ ++  (2) 
3

PRPQ +   

 (3) 
3

QRPQ +  (4) 
3

PRQRPQ ++
 

 
Q.15 The velocity of a body moving in a vertical 

circle is gr7  at the lowest point. The ratio of 

the maximum and minimum tensions is : 

 (1) 4 : 1  (2) 1:7   
 (3) 3 : 1   (4) 2 : 1 

Q.13 l yEckbZ o m nzO;eku dh ,dleku NM+ mlds fljs ls 

xqtjus okyh {kSfrt v{k ds lkis{k Lora=k :i ls 

?kwerh gSA mldh vf/kdre dks.kh; pky ω gSA mldk 

nzO;eku dsUnz fdl vf/kdre Å¡pkbZ rd c<+sxk &    

 (1) 
g3

1 22ωl   (2) 
g6

1 ωl   

 (3)  
g2

1 22ωl  (4) 
g6

1 22ωl  

 
Q.14 izR;sd 1 kg nzO;eku ds rhu le:i xksyksa dks 

,d-nwljs ds Li'kZ djrs gq;s fp=kkuqlkj j[kk x;k gS 

rFkk muds dsUnz ljy js[kk ij gSA ;fn muds dsUnzks 

ij Øe'k% P, Q o R vafdr gks rks P ls fudk; ds 

nzO;eku dsUnz dh nwjh gS &    

          

Y

X
P Q R

 

 (1) 
3

QRPRPQ ++  (2) 
3

PRPQ +   

 (3) 
3

QRPQ +  (4) 
3

PRQRPQ ++
 

 
Q.15 Å/oZ o`Ùk esa xfr'khy fi.M dk osx fuEure fcUnq ij 

gr7  gSA vf/kdre rFkk U;wure rukoksa dk vuqikr 

gS & 

 (1) 4 : 1  (2) 1:7   
 (3) 3 : 1   (4) 2 : 1 
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CHEMISTRY 
 

Q.16 If 0.44g of a colourless oxide of nitrogen 
occupies 224 mL at 1520 mm Hg and 273°C, 
then the compound is : 

 (1) N2O   (2) NO2  
 (3) NO4  (4) N2O2 
 

Q.17 An isotone of Ge76
32  is : 

 (1) Ge77
32   (2) As77

33   

 (3) Se77
34    (4) Kr81

36  
  
Q.18 At S.T.P., the density of nitrogen monoxide 

is : 
 (1) 3.0 g L–1 (2) 30 g L–1  
 (3) 1.34 g L–1  (4) 2.68 g L–1 
 
Q.19 The internal energy of a substance :  
 (1) Increases with increase of temperature    
 (2) Decreases with increase of temperature   
 (3) Remains unaffected with temperature      
 (4) Can be calculated by the expression E = mc2 
 
Q.20 If α is the fraction of HI dissociated at 

equilibrium in the reaction 
2HI   H2 + I2 

 then starting with 2 moles of HI, the total 
number of moles of reactants and products at 
equilibrium are : 

 (1) 1  (2) 2  
 (3) 1 + α    (4) 2 + 2 α  

CHEMISTRY 
 

Q.16 ;fn 1520 mm Hg rFkk 273°C ij] 0.44g ukbVªkstu 

dk jaxghu vkWDlkbZM] 224 mL ?ksjrk gks rks ;kSfxd 

gS& 
 (1) N2O   (2) NO2  
 (3) NO4  (4) N2O2 
 

Q.17 Ge76
32  dk leU;wVªkWfud gS & 

 (1) Ge77
32   (2) As77

33   

 (3) Se77
34    (4) Kr81

36  
  

Q.18 ekud rki rFkk nkc ij] ukbVªkstu eksuksDlkbM dk 

?kuRo gS & 
 (1) 3.0 g L–1 (2) 30 g L–1  
 (3) 1.34 g L–1  (4) 2.68 g L–1 
 
Q.19 inkFkZ dh vkUrfjd ÅtkZ &  

 (1) rki esa o`f) ds lkFk c<+rh gS    

 (2) rki esa o`f) ds lkFk ?kVrh gS   

 (3) rki ls vizHkkfor jgrh gS      

 (4) E = mc2 O;atd }kjk Kkr fd;k tk ldrk gS 
 
Q.20 ;fn α, vfHkfØ;k esa lkE; ij HI ds fo;kstu dh 

fHkUu gS rks   
2HI   H2 + I2 

 HI ds nks eksy ds lkFk izkjEHk djus ij] lkE; ij 

vfHkdkjd rFkk mRiknksa ds eksyks dh dqy la[;k gS &  
 (1) 1  (2) 2  
 (3) 1 + α    (4) 2 + 2 α 
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Q.21 Among the following, which is not a Lewis acid? 
 (1) SnCl2  (2) AlCl3  
 (3) CCl4    (4) SiCl4 

 
Q.22 The correct order regarding the electronegativity 

of hybrid orbitals of carbon is : 
 (1) sp < sp2 > sp3  (2) sp < sp2 < sp3   
 (3) sp > sp2 < sp3 (4) sp > sp2 > sp3 
 
Q.23 In the following decomposition reaction 

222 OH2OH2 +→∆  

 (1) Hydrogen is oxidised     
 (2) Oxygen is reduced  
 (3) Hydrogen is reduced     
 (4) Oxygen remains unaffected 

 
Q.24 Which atomic number out of the following 

cannot be accommodated in the present setup of 
the long form of the periodic table? 

 (1) 112 (2) 118  (3) 120 (4) 116 
 
Q.25 Hydrogen can be prepared by the action of dil. 

H2SO4 on : 
 (1) Copper  (2) Iron   
 (3) Lead   (4) Mercury  
 
Q.26 The reactivity of the alkali metal sodium with 

water, is made use of : 
 (1) In drying of alcohols     
 (2) In drying of benzene   
 (3) In drying of ammonia solution      
 (4) As a general drying agent 

Q.21 fuEu esa ls dkSulk] yqbZl vEy ugha gS & 
 (1) SnCl2  (2) AlCl3  
 (3) CCl4    (4) SiCl4 

 
Q.22 dkcZu ds ladfjr d{kdksa dh fo|qr_.krk ds lUnHkZ esa 

lgh Øe gS & 
 (1) sp < sp2 > sp3  (2) sp < sp2 < sp3   
 (3) sp > sp2 < sp3 (4) sp > sp2 > sp3 
 
Q.23 fuEu fo;kstu vfHkfØ;k esa 

222 OH2OH2 +→∆  
 (1) gkbMªkstu vkWDlhd`r gksrk gS     
 (2) vkWDlhtu vipf;r gksrh gS  
 (3) gkbMªkstu vipf;r gksrh gS    
 (4) vkWDlhtu vizHkkfor jgrh gS 
 
Q.24 fuEu esa ls dkSulk ijek.kq Øekad vkorZ lkj.kh ds 

nh?kZ :i ds orZeku izk:i esa lek;ksftr ugha gks 

ldrk gS & 
 (1) 112 (2) 118  (3) 120 (4) 116 
 
Q.25 gkbMªkstu dks ruq H2SO4 dh fdl ij fØ;k }kjk 

cuk;k tk ldrk gS & 
 (1) rk¡ck  (2) ykSgk   
 (3) lhlk   (4) ikjk  
 
Q.26 ty ds lkFk {kkjh; /kkrq lksfM;e dh fØ;k'khyrk dks 

dgk¡ iz;qDr fd;k tkrk gS & 
 (1) ,YdksgkWyks ds 'kq"du esa     
 (2) csUthu ds 'kq"du esa   
 (3) veksfu;k foy;u ds 'kq"du esa      
 (4) lkekU; 'kq"dudkjd esa 
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Q.27 Thermodynamically, the most stable allotrope of 

C is : 

 (1) Diamond (2) Graphite   

 (3) Anthracite  (4) All 

 

Q.28 The IUPAC name of 

 CHO

Br

 is : 

 (1) 2-methyl-3-bromohexanal     

 (2) 3-bromo-2-methylbutanal   

 (3) 2-methyl-3-bromobutanal      

 (4) 3-bromo-2-methylpentanal  

 

Q.29 Boiling points and densities of  
 I. n-pentane      II. Isopentane      III. neopentane 
 decrease in the order   
 (1) III > II > I (2) I > II > III  
 (3) II > I > III (4) III > I > II 
 

Q.30 The isomerism that arises due to restricted 

rotation about carbon-carbon double bond is 

called : 

 (1) Geometrical isomerism     

 (2) Optical isomerism   

 (3) Tautomerism     

 (4) Conformational isomerism  

 

Q.27 Å"ekxfrdh; :i ls] C dk lokZf/kd LFkk;h vij:i 

gS& 

 (1) ghjk  (2) xzsQkbV   

 (3) ,UFkzslkbV  (4) lHkh  

 

Q.28 

 CHO

Br  

dk IUPAC uke gS & 

 (1) 2-esfFky-3-czkseksgsDlsusy     

 (2) 3-czkseks-2-esfFkyC;wVsusy   

 (3) 2-esfFky-3-czkseksC;wVsusy       

 (4) 3-czkseks-2-esfFkyisUVsusy   

 

Q.29 fuEu ds DoFkukad rFkk ?kuRoksa dk ?kVrk Øe gS %  

 I. n-isUVsu      II. vkblksisUVsu      III. fuvksisUVsu    

 (1) III > II > I (2) I > II > III  
 (3) II > I > III (4) III > I > II 
 

Q.30 leko;ork tks dkcZu&dkcZu f}ca/k ds lkis{k 

izfrcfU/kr ?kw.kZu ds dkj.k mRiUu gksrh gS & 

 (1) T;kfefr; leko;ork     

 (2) izdkf'kd leko;ork   

 (3) pyko;ork      

 (4) la:i.k leko;ork 
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BIOLOGY 
Q.31 Class is present between : 
 (1) Kingdom and phylum  
 (2) Phylum and order  
 (3) Order and family      

 (4) Family and genus  
 
Q.32 Motile flagellated asexual spore is : 
 (1) Zygote  (2) Zygospore   
 (3) Aplanospore (4) Zoospore 
 
Q.33 Edible part of mango is - 
 (1) Pericarp  (2) Mesocarp   
 (3) Pome  (4) Epicarp  
 
Q.34 The tissue which has dead cells in the functional 

state is : 
 (1) Collenchyma (2) Sclerenchyma   
 (3) Parenchyma (4) Phloem 
 
Q.35 Most of the water found in the cell occurs in : 
 (1) Cell wall (2) Nucleus   
 (3) Cytoplasm (4) Nucleolus  
 
Q.36 Enzymes are made up of : 
 (1) Edible proteins    
 (2) Proteins   
 (3) Nitrogen-containing carbohydrates      
 (4) Carbohydrates  

BIOLOGY 
Q.31 oxZ fduds e/; mifLFkr gksrk gS &  

 (1) txr rFkk la?k  

 (2) la?k rFkk x.k  

 (3) x.k rFkk dqy      

 (4) dqy rFkk oa'k   
 
Q.32 py d'kkfHkd vySafxd chtk.kq gS & 

 (1) ;qXeut  (2) ;qXek.kq    

 (3) vpy chtk.kq (4) py chtk.kq  
 
Q.33 vke esa [kkus ;ksX; Hkkx gS & 

 (1) QyfHkfÙk  (2) e/;QyfHkfÙk    

 (3) ikse  (4) ckáQy fHkfÙk  
  
Q.34 Ård ftlesa dk;kZRed voLFkk esa e`r dksf'kdk,¡ ik;h 

tkrh gSa & 

 (1) LFkwydks.kksÙkd (2) n`<+ksÙkd   

 (3) e`nqÙkd  (4) ¶yks;e  
 
Q.35 dksf'kdk esa vf/kdka'k ty ik;k tkrk gS & 

 (1) dksf'kdk fHkfÙk esa (2) dsUnzd esa   

 (3) dksf'kdknzO; esa (4) dsfUnzdk esa   
  
Q.36 ,Utkbe cus gksrs gSa & 

 (1) [kkus ;ksX; izksVhUl ds    

 (2) izksVhUl ds   

 (3) ukbVªkstu ;qDr dkcksZgkbMªsV~l ds  

 (4) dkcksZgkbMªsV~l ds  
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Q.37 During cell cycle, DNA replicates : 
 (1) Once  (2) Twice  
 (3) Many times (4) Not at all 

 
Q.38 Photosynthetic food material is transported in the 

form of : 
 (1) Glucose  (2) Sucrose   
 (3) Starch   (4) Fructose  
 
Q.39 The primary receptor of CO2 in photosynthesis 

is: 
 (1) Phosphoric acid    
 (2) Ribulose phosphate  
 (3) Glucose      
 (4) Ribulose 1,5-bisphosphate  
 
Q.40 Where does the formation of acetyl CoA from 

pyruvic acid take place? 
 (1) Mitochondria (2) Chloroplast   
 (3) Cytoplasm  (4) Golgi body  
 
Q.41 Matrix secreting cells of cartilage are known 

as :  
 (1) Chondrocytes (2) Osteoblasts   
 (3) Fibroblasts  (4) Mast cells  
 
Q.42 In frog, undigested solid waste passes out 

through : 
 (1) Rectum   (2) Cloaca   
 (3) Anus   (4) Intestine  

Q.37 dksf'kdk pØ ds nkSjku] DNA izfrd`frr gksrk gS & 

 (1) ,d ckj   (2) nks ckj   

 (3) dbZ ckj  (4) ugha gksrk  
 
Q.38 izdk'kla'ys"kh [kk| inkFkZ fdl :i esa ifjogfur 

gksrk gS & 

 (1) Xywdkst  (2) lqØkst    

 (3) LVkpZ   (4) ÝDVkst   
 
Q.39 izdk'kla'ys"k.k esa CO2 dk izkFkfed xzkgh gS & 

 (1) QkWLQksfjd vEy     

 (2) jkbcqykst QkWLQsV  

 (3) Xywdkst       

 (4) jkbcqykst 1,5-fclQkWLQsV  
 
Q.40 ,flVkby CoA ls ikb:fod vEy dk fuekZ.k dgk¡ 

gksrk gS & 

 (1) ekbVksdkWfUMª;k esa (2) gfjryod esa   

 (3) dksf'kdknzO; esa  (4) xkWYthdk; esa   
  
Q.41 mikfLFk dh v/kk=kh L=kkfor djus okyh dksf'kdkvksa 

dks tkuk tkrk gS &  

 (1) dkW.MªkslkbVl (2) vkWfLV;ksCykLV~l    

 (3) QkbczksCykLV  (4) ekLV dksf'kdk,¡   
 
Q.42 es<+d esa] vifpr Bksl vif'k"V fdlds }kjk ckgj 

fudyrk gS & 

 (1) eyk'k;  (2) voLdj   

 (3) xqnk    (4) vk¡=k   
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Q.43 What is the dental formula of human being? 

 (1) 
2123
2123   (2) 

2213
2123  

 (3) 
2114
2114   (4) 

2122
2122  

 
Q.44 Which enzyme is responsible for the digestion of 

milk in infants?  
 (1) Pepsin   
 (2) Trypsin   
 (3) Rennin   
 (4) Various proteolytic enzyme  
 
Q.45 Actual site of exchange of gases in the lungs is : 
 (1) Alveoli   (2) Pleura   
 (3) Bronchioles  (4) Tracheoles  
 
Q.46 Match the following columns.   

Column-I Column-II 
(A) Fibrinogen (1) Clotting or   

coagulation of blood 
(B) Globulins (2) Defence mechanism 

of body 
(C) Albumins (3) Osmotic balance  

 

  A B C 
 (1) 3 2 1     
 (2) 3 1 2  
 (3) 2 1 3     
 (4) 1 2 3  

Q.43 ekuo dk na=klw=k D;k gS\  

 (1) 
2123
2123   (2) 

2213
2123   

 (3) 
2114
2114    (4) 

2122
2122  

 
Q.44 fuEu esa ls dkSulk ,Utkbe f'k'kqvksa esa nq/k ds ikpu 

ds fy, mÙkjnk;h gksrk gS &  

 (1) isfIlu   
 (2) fVªfIlu   
 (3) jsfUuu   
 (4) fofHkUu izksfV;ksykbfVd ,Utkbe   
 
Q.45 Qq¶Qql esa xSlks ds fofue; dk okLrfod LFky gS & 
 (1) dwfidk   (2) Iywjk   

 (3) 'olfudk  (4) 'okluyh   
 
Q.46 fuEu LrEHkksa dk feyku dhft, & 
  

LrEHk-I LrEHk-II 
(A) Qkbfczukstu (1) FkDdk ;k jDr  

dk Ldanu 
(B) XykscqfyUl (2) 'kjhj dh j{kk 

fØ;kfof/k 
(C) ,YcqfeUl (3) ijklj.k larqyu 

 

  A B C 
 (1) 3 2 1     
 (2) 3 1 2  
 (3) 2 1 3     
 (4) 1 2 3  
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Q.47 In kidneys glomerular fltration rate (GFR) in a 
healthy individual is :   

 (1) 125 mL/min (2) 150 L/day  
 (3) 125 mL/sec (4) 135 L/day   
 
Q.48 Streaming of the cytoplasm/cyclosis is seen in : 
 (1) Amoeba  (2) Earthworm  
 (3) Nereis    (4) Leech  
 
Q.49 Synaptic knob is bulb-like structure which is 

present : 
 (1) At the end of axon terminal     
 (2) At the node of Ranvier  
 (3) In the cell body     
 (4) At the end of dendrites  
 
Q.50 In males, LH stimulates the synthesis and 

secretion of hormones called : 
 (1) Gonadotropins (2) Prolactin   
 (3) Testosterone  (4) Oxytocin  

Q.47 LoLFk O;fDr ds o`Ddksa esa Xykses:yj Nfu=k nj

(GFR) gksrh gSA & 

 (1) 125 mL/min (2) 150 L/day  
 (3) 125 mL/sec (4) 135 L/day   
  
Q.48 dksf'kdknzO; lapkj@lkbDyksfll dks ns[kk tkrk gS &

 (1) vehck esa  (2) dsapq, esa  

 (3) usjht esa   (4) tksad esa   
 
Q.49 flusfIVd ?kq.Mh] cYc ds leku lajpuk gksrh gS] tks 

mifLFkr gksrh gS &  
 (1) ,Dlksu Nksj ds vUr esa     
 (2) jsfUo;j ds ioZ esa  

 (3) dksf'kdk dk; esa     
 (4) MsUMªkbM~l ds vUr esa   
 
Q.50 uj esa] LH ftl gkeksZu ds la'ys"k.k rFkk L=ko.k dks

izsfjr djrk gS] dgykrk gS & 
 (1) xksukMksVªksfiUl (2) izksysfDVu 
 (3) VsLVksLVhjkWu  (4) vkWDlhVksflu 


